1. Foreach
function
 find dy/dx . Write your answers in the space provided .
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2. Evaluate ite j
each definite Integral . Write your answer in the space provided .
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3. Use L'Hopital’s rule ( if necessary) to evaluate each limit . If you use L'Hopital’s rule,

state the type of indeterminate form you encounter .
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4. Sketch the graph of y =e=** + 3. Find the critical point(s) , the inflection point(s) ,
any asymptotes .  Label the critical / inflection points on your graph .
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Use the next page if you need more room for calculations.
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